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I Question regarding our ruling: is the n®’a on Wednesday or Wednesday night

a

b

restated: are we concerned about the extra time between nx»a and Thursday morning — that he may “cool off”?
answer: ®19p 11 explained that the n%1n2 has 1 k21 on 'n 0 (W. night) due to the n371 of the fish (v. 1); an N5 has
1t nxoa on Th. Night due to the 1371 of Man (v. 2)
i Expansion: when possible, we prefer nTx7T 1372 OR an alternative nipn of 17pw for nnby, ensuring that her new
husband elates her for 3 days (naw ,v"y ,'n ov)
1 Split the difference: a non-working man (¥1p® not a concern — he won’t go to work on 'n oy either)
2 Split the difference: when 210 DY is on v”» (1Tpw not a concern)
ii  Implication: reason for 'n %% is 1373, not a concern for him “cooling off”
iii ~ Tangential mr7x homiletic lessons about creation (vv. 3-7) and about requirement to “shut ears” rather than
hearing inappropriate things (v. 8)

I Analysis of problem of nawa n%na n»ya

a

b

Lemmal: o7 is "collected” (1'pa Tpan) and the wound is an "opening"
Next step: if we follow this position,
i Leniency: he needs the blood (12nn% 2”Rw 727)
ii ~ Next step: if we follow this position,
1 pwnp pyw 727 do we rule like w™ (Ienient) or like ™ (stringent)
2 Next step: if we rule like ™, is he considered a jpnn (stringent) or Yp%pn (lenient) re: the opening
iii ~Stringency: he needs the opening
Lemma?2: o7 is within the uterine walls and the wound is a "wound"
Next step: if we follow this position,
i Stringency: he needs the o7 (170R)
ii  Leniency: he wants his own pleasure (1mn)
iii Next step: if we follow this position,
1 pwnp pyw 727 do we rule like w™ (Ienient) or like " "1 (stringent)
2 Next step: if we rule like >, is he considered a jpnn (stringent) or YpYpn (lenient) re: the wound
(a) Next step: if he is a Ypopn — do we rule like » re: Yp5pn (lenient) or like w™ (stringent)
Ruling;:
i 127's school taught that 27 was lenient and YW was strict (YR1nW's school taught the inverse)
ii  challenge: 21 forbids pulling at barrel plug — inadvertent nvno (in spite of being 11911 1RWY 127)
iii  answer: even v" forbids n"Rw1 if it is an inevitable violation (mn> X% WM H>oa)
iv  challenge: 21 is quoted as ruling like nmn> 1 (R0 rules like w™)
v answer:
1 lemmal: (Tp9 Tpan 0T): 27 maintains that he is YpYpn re: the opening
2 Lemma2: (ann »1an o7): 11 maintains that he is YpYpn re: the wound
vi  Challenge: ruling that we assume any o7 seen for 1° four nights — until v”¥m - is »%1N2 07
1 Implication: first nR’a may take place any of these nights, including naw
2 Rejection: might refer to case where he already had first n&’3; unexpected teaching that it is permissible to
"enter a tight opening on naw, even though it leaves torn remains" (5xR1nWv)
vii Challenge: ruling that a jnn is exempt from v”p until he consummates (due to mxnT RTVY) until V¥
1 Defense: disputed; ®in holds that he is only exempt through Thursday night (- may not have 1%t nx»a)
2 Explanation: w™ permits, even though he concedes that a 7" is forbidden, since it is possible to have initial
relations without a wound (n»on)
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